
Model 10 - Current Electricity
Homework

For questions 4-9, you MUST draw the circuit in your lab notebook!!!!
1. What’s the potential difference across a 5.0 ohm resistor with a current of 1.5 A going through it?
2. What is the current through a simple circuit with a 12.0 V battery and a 7.0 ohm resistor?
3. If a 500.0 ohm resistor has a current of 2.0 A going through it, how much power does it turn into thermal energy?
4. Three resistors, 4 ohms, 6 ohms, and 3 ohms, are connected in series along with a 9.0 V battery.
a. Find the equivalent resistance of the circuit.
b. Find the current in the circuit.
c. Find the current in each resistor.
d. Find the potential difference across the 6 ohm resistor.
5. Three resistors, 2 ohms, 8 ohms, and 5 ohms, are connects in parallel along with a 9.0 V battery.
a. Find the equivalent resistance of the circuit.
b. Find the current in the circuit.
c. Find the current in each resistor
d. Find the potential difference across the 8 ohm resistor.
6. Find the equivalent resistance in the complex circuit below if it is connected across a 64 V potential difference. 

7. Find the equivalent resistance and the current across the 100 ohm resistor in the complex circuit below.
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8. Find the equivalent resistance AND total potential difference in the circuit below.
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9. What is the equivalent resistance in the circuit shown below.
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